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But rather it is this Tanna — RI7 NIN ON7T NON

OVERVIEW

The X713 is searching for the XIn who maintains that the ¥77 20w of a 21 is Xnhwn
XWwn21 ¥ (since it cannot be X" or *'"7). NMvOIN explains why the X773 could not
have cited alternate sources which maintain that 271 5w "W is X@n21 ¥an2a Xnvn.

Moo anticipates a difficulty (that we find o°Xin that are 21 5w 1"'w Xnvn also Xwn1):
= (X, 97) 19239 N9NA P99 2HNT ININ M
And regarding those 2°81n which the X713 cites in the last P92 of =951 noon -
- °N91 Y59 MNRY 7Y RY XWHA RNOM 2T YV IWIT NIIY 29207 *0NNT PNINNT Xam
And the Rin of the mwn there who all maintain that the "2 of a 2v is Xnun»
Nwna, it is not at all possible to cite those opinions here in our discussion —

mooIn explains why:
- 9991 N29YW NNPVN 191 IN NYY NN N2 NHNIY 29 NP7 9920 11D onnY

For there all those 2°X1n maintain that the "' of a 11 is X»wv» only in close

proximity to his seeing :72°7; either within a »'"™>¥» or within a day, but not later -
- 52991 919909 YA /1 93 RYNA RNVIY NIN MINNY S¥a NI

But here we need to show a X1n who will be Xwn2 x»wn the 21 YW 1"w which was
seen during all the seven days of 72’7, based on a Y''? from his saliva.

mooIn asks:
- GO 29 5¥2PT (3,15 97 11 DI M P92 TN ON)
And if you will say; in 2°n12 n3 P95, where 19 29 queries -
- %5519 NYNA RNVNY 1NN YNEN YWY NIYNY HINY

" The xm3 there cites a dispute between the p"n who maintains that the 1w of a 21 (the same as 21 W *p) is Xnvn
XWn1 up to a n¥? nyn (twenty-four hours) within his seeing 72°1, and 01 'Y who maintains that it is Xnun only if he
saw 1"w in the day in which he saw 172’7 (not for a complete ¥"2¥n). In any event they both maintain that 21 5w 1"w is
Xwna &nwn. [Their npr2nn is dependent on how to interpret the 2°p109 in 2° 8,33 (X%n) 0™27. See ‘Thinking it over’.]
2 We understand from the mwn there (on 2,70) that the "W of a 21 is XWwn2 RHvA.
* Why do we not cite those °Xin as a source for the ruling that 21 5w 1"w is Xwna Xnwn.
* This means that if he saw 721 during the day any "w which he sees that day (before nightfall) is Xwna Xnvn.
Similarly if he saw 72°7 at night any 1"® that he sees that night is Xwn2 Xnvn (but not after this time).
> The 1 of the a1 is Xnvm anytime during his seven days even if it is after he stopped seeing 21, therefore if we
derive that 7"'w is Xnvn from P17, it must be Xnun at any time (when he is still a 2r).
® The query is whether the first 7°X7 of 772’7 (which has the rule of 1"w) is like a regular X1 of *3p which is not X»un
Xwn1. Or since it is from a ¥y71¥7n, it may be considered as an emission from a 7"y of the yxn (like his saliva) which
IS Xwn2 Xnwn.
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Whether the first ‘seeing’ of "7 by a ym1x» is Rwna Xnw», etc. -
- 'Nont At Yv P 1195 91NV NNV 1PN 92N DPN YN NNVNT VIV RY INNIN)

But why does he not resolve his query that it is X@w»3 X»u»n through a v''p from
saliva; if the saliva of a 9177 is 917w, etc. just as we derived here regarding the 9p
27 B that it is Xnvn from this 1"p, why do we not use the same 1"p by y11%1?!

MDOIN answers:
- 11990 297 NIIIN IND ONNT 1I¥2T 990 v

And one can say; that the query there regarding a y71¥n was not according to
©'"9 (who maintains 1°7 1R X2 1"p 71977 X2*7) -

19N 95 S199917 X92P 14175 NINT 19297 NIIIN NN
But rather according to the 3229 who maintain 197 even if it is 1''p 799,

SUMMARY
Our X3 assumes that 212 P is 't 92 ¥nwvn not like other 2°Xi1n who limit it to a
¥"%yn or for the day only.

THINKING IT OVER

In our X3 we derive that 21 YW 7P is Xwn2 Xnvn from a 1"p. The 2°XiN in 7711 'on
who maintains that 21 W "W is Xwna Xnvn derive it from a P105.9 How can we
possibly cite those a°Xin as the source for our view here, which derives 212 p
from a 1'\7?!10

" The 1"p would be the same; if the P11 of a v is MW, but nevertheless the 1"w of a MAw is XMW (at least ¥an3), so
since the 17 of a ¥y7¥n» is Xwn21 ¥an2 Xnwun, certainly the 1"w of a ¥71¥n should be Xwn1 vana Rnvn.
¥ Therefore we say 17 that just as by a 1770 the *p is Xnun only ¥an2, but not Xw»32, the same is by a ¥11¥» that his *p
is only ¥ana Xnvn, but not Xwn3, even though that by implementing this 17, it renders the 1"p ineffective, for we know
even without the 1"p that y71%n Sw »p is vana &nvn, for it is not different than *1p by a ‘regular’ person, nonetheless
the 0201 maintain 17 even where 1"p 779.
? See footnote # 1.
' See TN wIon IR # 62.
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